
 "Закрепление таблицы сложения и 
вычитания в пределах 10. 

Жизнь лесных животных зимой". 

Интегрированный урок 
математики и окружающего 

мира
 в 1 классе













Задача

?
10 – 3 = 7 (г.)
Ответ: 7 грибов.





8 + 2 – 3 =7               7 – 2 + 0 =5
10 – 3 + 1 =8              6 + 3 – 2 =7
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8 – 2 =6                5 + 5 =10
10 – 3 =7              6 + 3 =9
7 + 2 = 9              10 – 2 =8

9 + 1 =10             10 – 1 =9
5 – 2 = 3               8 + 0 =8
4 + 3 = 7               6 – 2 =4

проверка








